# **COVER PAGE**

# Premise Wiring at Joint Base Lewis McChord, WA 98433

#### **DEPT OF DEFENSE**

DEPT OF DEFENSE Sub-tier DEPT OF THE AIR FORCE Major Command AIR COMBAT COMMAND Office FA4620 92 CONS LGC Joint Base Lewis McChord ,WA,98433

Notice ID

RFP: FA462025QA

Project: 1138



Presented By:

US

11871 E 33rd Ave , Aurora CO 80010 Murat Yildirim admin@systec101.com 9706462706 SYSTECION

#### **DESCRIPTION**

#### Introduction:

SYSTEC101 is pleased to submit this proposal for Premise Wiring Services at Joint Base Lewis McChord. Specializing in structured cabling with a strong history of high-quality installations for complex military infrastructures, we offer a strategic approach to meet and exceed the Department of Defense's project objectives within the specified timeframe.

#### Scope of Work: Engineering, Furnishing, Installation, and Testing (EFI&T)

SYSTEC101 proposes an upgrade to the premises wiring in building 307, including the installation of new NIPR Cat-6 cabling. Our comprehensive approach covers all aspects of infrastructure deployment, from material procurement to system integration. A detailed Bill of Materials, outlining all high-quality components from reputable manufacturers like Chatsworth and CommScope, will be provided to ensure optimal performance and longevity.

#### **Technical Execution Plan:**

- 1. **Pre-Installation:** Thorough site assessments and finalized schematic layouts will be conducted to ensure alignment with client specifications and structural requirements.
- 2. **Installation:** Our highly skilled technicians will execute the cabling installation and associated infrastructure deployment, minimizing operational disruption.
- 3. **Testing & Commissioning:** Rigorous testing procedures will be performed to verify all network connections meet specified performance criteria.

#### **Project Timeline:**

- **Project Kick-off:** Will commence immediately upon contract award.
- **Completion:** Will be achieved within stipulated deadlines and according to predefined project milestones.

#### **Advantages of Selecting SYSTEC101:**

- Adherence to Industry Standards: Our methodologies strictly comply with IT and Telecom Data Center Support Services and defense regulations under NAICS Code 517111.
- **Experienced Personnel:** Our team is led by certified project managers and includes highly qualified technicians with extensive experience in complex installations within secure environments. www.systec101.com

• **Demonstrated Success:** Our track record includes numerous successful projects of similar scope and complexity, demonstrating our ability to consistently deliver superior outcomes within established timelines.

#### **Conclusion:**

SYSTEC101 is confident in our capability to deliver exemplary structured cabling solutions that effectively meet the requirements of Joint Base Lewis McChord. We are eager to partner with the Department of Defense to enhance its communication infrastructure.

For inquiries or further discussion, please contact our bid submission team. We look forward to the opportunity to collaborate on this important project.

#### **Attachments:**

- 1. Bill of Materials
- 2. Statement of Technical Qualifications
- 3. Certificates and Licenses
- 4. Compliance Documentation

Thank you for considering our proposal. We are committed to maintaining the highest standards of quality and reliability throughout project execution.

# BILL OF MATERIALS

Product Photo	UPC	Name	Total Quantity	Unit Cumulativ Material Price Price		Extended Price
<u>111111111</u>	10250-712	Chatsworth 12"W ladder rack	3 Select	\$157.49 \$472.46	\$300.00	\$772.46
	12100-712	Chatsworth 12"W radius drop	3 Select	\$79.43 \$238.28	\$300.00	\$538.28
ll:	11421-712	Chatsworth 12"W wall angle kit	3 Select	\$39.02 \$117.07	\$300.00	\$417.07
••	10642-001	Chatsworth end cap	5 Select	\$11.22 \$56.10	\$500.00	\$556.10
<b>5 5 5 5 6</b>	11302-001	Chatsworth Junction splice kit	5 Select	\$14.15 \$70.74	\$500.00	\$570.74
	11301-701	Chatsworth Butt splice kit	5 Select	\$15.12 \$75.60	\$500.00	\$575.60
	10608-001	Chatsworth vertical wall bracket	5 Select	\$23.33 \$116.64	\$500.00	\$616.64

	12100-718	Chatsworth 18" W Radius drop	2 Select	\$56.26 \$112.51	\$200.00	\$312.51
	11421-718	Chatsworth 18" W wall angle kit	2 Select	\$44.41 \$88.82	\$200.00	\$288.82
	<b>1</b> 0250-704	Chatsworth 4ft ladder rack	2 each	\$177.60 \$355.20	\$200.00	\$555.20
	731304642 183	APC NetShelter SX Server Rack Gen 2, 42U AR3150B2	3 each	\$3,330.00\$9,990.00	\$900.00	\$10,890.00
	032886080 84	All Purpose Cable, Aluminum Armor, (2) 10 AWG Conductor	300 ft	\$10.80 \$3,240.00	\$600.00	\$3,840.00
	786189105 18	4 in. Square Surface Cover, Steel, Raised 1/2 in., 2-9/64 in. 30A to 50A Receptacle	5 each	\$3.00 \$15.00	\$83.33	\$98.33
	B0C3WLDQ 7Q	4" SQUARE BOX - 2-1/8" DEEP - WELDED Square Electrical Box	8 each	\$4.20 \$33.60	\$93.33	\$126.93
0	783585235 92	Twist-Lock® Receptacle, Single, Flush, 30A, 125V, 2P3W, Black Nylon	2 each	\$103.13 \$206.26	\$33.33	\$239.59

	783585835 96	Select Spec™ Single Locking Receptacle, 30A, 250V, 2P3W, Black Nylon	3 each	\$54.68	\$164.05	\$50.00	\$214.05
11	B07KFP7T3 H	GE UltraPro Duplex Heavy-Duty Receptacle	3 each	\$5.99	\$17.96	\$50.00	\$67.96
(i)	B005JC6P12	Hubbell-Raco 902C 1 Duplex Receptacle 4- Inch Square Exposed Work Cover, Silver	3 each	\$5.40	\$16.20	\$25.00	\$41.20
	032886912 59	58027505 - THHN Building Wire, Solid, 12 AWG, White	450 ft	\$0.29	\$129.60	\$300.00	\$429.60
	032886912 52	58026505 - THHN Building Wire, Solid, 12 AWG, Black	450 ft	\$0.29	\$129.60	\$300.00	\$429.60
(6	032886894 98	THHN Building Wire, Solid, 12 AWG Green	450 ft	\$0.29	\$129.60	\$300.00	\$429.60
TO DESCRIPTION	202353302	QO 30 Amp Single-Pole Circuit Breaker	6 each	\$20.89	\$125.35	\$250.00	\$375.35
<b>A</b>	100172548	1/2 in. Standard Fitting Electrical Metallic Tube (EMT) 1-Hole Straps	90 each	\$0.25	\$22.68	\$1,250.00	\$1,272.68



	100137321	1/2 in. Electrical Metallic Tube (EMT) Set- Screw Connectors	12 each	\$1.18 \$14.	11 \$166.67	\$180.78
	202068039	1/2 in. x 10 ft. Electrical Metallic Tubing (EMT) Conduit	90 each	\$8.98 \$807	.84 \$3,000.00	\$3,807.84
	032886225 41	11599805 - THHN Building Wire, Solid, 10 AWG, Green	450 ft	\$0.47 \$210	.60 \$300.00	\$510.60
	032886912 32	58020305 - SIMpull THHN® Building Wire 10 AWG Solid Copper, Black	450 ft	\$0.47 \$210	.60 \$300.00	\$510.60
	032886912 84	58021605 - Building Wire, THHN, Copper, 10 AWG Solid, 1-Conductor, 600V, White	450 ft	\$0.47 \$210	.60 \$300.00	\$510.60
	EMI104-10	EATON POWER QUALITY   EMI104-10 EPDU 30AMP INPUT 200-240V I/O36X C13 6X C19 VERT. METERED	2 each	\$1,245.59\$2,49	1.18 \$200.00	\$2,691.18
0	EMI102-10	Eaton Metered Input Rack PDU 2.88 kW max 120V 24A 0U Vert. Single-Phase PDU	1 each	\$1,131.59\$1,13	1.59 \$100.00	\$1,231.59

	EX4400-EM- 4S	EX4400-EM-4S4x10G SFP+ extension module for EX4400 series of switches	1 each	\$1,496.40\$1,496.40	\$100.00	\$1,596.40
	QSFP-100G- DAC-50CM	Juniper 0.5m 100GBase QSFP28 Copper Cable	4 each	\$290.39 \$1,161.55	\$400.00	\$1,561.55
	-204632878	6 AWG Green Stranded Ground Wire	40 ft	\$1.86 \$74.40	\$33.33	\$107.73
	39121405 <sup>-</sup>	Two-Hole Lug Compression Connector 6 AWG	2 each	\$2.70 \$5.40	\$50.00	\$55.40
	703957244 10	Telecommunications Grounding Busbar, 2 H x 12 W x 1/4 in. T	1 each	\$187.20 \$187.20	\$50.00	\$237.20
	980250821 <sup>-</sup> 99	THHN Building Wire, 3 AWG Stranded Copper Conductor, Green	40 ft	\$2.15 \$85.92	\$100.00	\$185.92
A PART OF THE PART	810018791 30	Ground Lug, Copper, 4/0 AWG, Stranded, 2- Hole, 3/8 in. Stud, 1 in. Hole Spacing, Tin- Plated, Purple, 3.73 in. L	2 each	\$8.04 \$16.08	\$33.33	\$49.41

98290313 Two Port L-Type Flush Mount Faceplate, Ivory 198 each \$2.48 \$491.83 \$1,650.00 \$2,141.83 **www.systec101.com** 



96096815	Category 6 Plenum 4-Pair Cable, Blue	29700 ft	\$0.66	\$19,602.00	\$19,800.00	\$39,402.00
884104157 10	Systimax® MGS400 Series GigaSPEED® XL Information Outlet, Blue	396 each	\$14.95	\$5,920.99	\$5,280.00	\$11,200.99
25065409	COMMSCOPE SYSTIMAX Cat 6 GS8E GigaSPEED® XL Modular Patch Cord, 7 ft., Blue	198 each	\$15.60	\$3,088.80	\$1,650.00	\$4,738.80
721460499	CommScope Uniprise Uniprise® Category 6 Patch Cords 5 FT Blue	198 each	\$15.60	\$3,088.80	\$1,650.00	\$4,738.80
800388000 82	CF105 Cable Tray, Electo-plated, 4 in. X 12 in/, 10 ft.	60 each	\$322.51	\$19,350.72	\$6,000.00	\$25,350.72
800388018 77	Cablofil (Legrand) Cable Tray Fitting, Splice Washer Kit, Bolt, Nut, Carbon Steel, Steel, 1/4 to 20 in Thread	60 each	\$4.58	\$275.04	\$1,000.00	\$1,275.04
800388249 33	Cable Tray Fitting, Bend Kit	6 each	\$80.02	\$480.10	\$600.00	\$1,080.10



	800388009 57	FAS Profile Bracket Basket Tray, 24 in. L	60 each	\$43.20	\$2,592.00	\$500.00	\$3,092.00
A Comment	721460691 92	CommScope Systimax GigaSPEED XL 1100GS3 Evolve Category 6 U/UTP Patch Panel, 48-Port	9 each	\$961.20	\$8,650.80	\$900.00	\$9,550.80
	074983376 49	Panduit - Panduit PatchLink 2U horizontal cable manager (dual-sided) (black)	11 each	\$120.19	\$1,322.11	\$183.33	\$1,505.44
	CCH-04U	Corning 4U Closet Connector Housing accepts up to 12 CCH panels	2 each	\$490.80	\$981.60	\$2,000.00	\$2,981.60

Total:	\$138,037.85	\$56,731.65 \$194,769.50
Shipping & Handling Charges:		\$0.00
Sales Tax: Equipment	0 %	\$0.00
Grand Total:		\$194,769.50

# SYSTECICI QUOTE

11871 E 33rd Ave Unit B Aurora CO 80010 9706462706 PO#
Premise Wiring at Joint Base Lewis McChord , WA
98433
May 9, 2025

#### **Quoted To:**

#### **DEPT OF DEFENSE**

DEPT OF DEFENSE Sub-tier DEPT OF THE AIR FORCE Major Command AIR COMBAT COMMAND Office FA4620 92 CONS LGC Joint Base Lewis McChord WA 98433 Site/Location: Premise Wiring at Joint Base Lewis McChord , WA 98433

Joint Base Lewis McChord WA 98433

# Prepared By: US

Murat Yildirim Project Manager admin@systec101.com 9706462706

1138



# **Bill of Materials**

Product Photo	UPC	Name	Total Quantity	Ext. Material Price	Ext. Labor Price	Ext. Price
<u>111111111</u>	10250-712	Chatsworth 12"W ladder rack	3	\$472.46	\$300.00	\$772.46
<b>\</b>	12100-712	Chatsworth 12"W radius drop	3	\$238.28	\$300.00	\$538.28
rr:	11421-712	Chatsworth 12"W wall angle kit	3	\$117.07	\$300.00	\$417.07
••	10642-001	Chatsworth end cap	5	\$56.10	\$500.00	\$556.10
5 5 5 5	11302-001	Chatsworth Junction splice kit	5	\$70.74	\$500.00	\$570.74
	11301-701	Chatsworth Butt splice kit	5	\$75.60	\$500.00	\$575.60



	12100-718 Chatsworth 18" W Radius drop	2	\$112.51	\$200.00	\$312.51
ll:	11421-718 Chatsworth 18" W wall angle kit	2	\$88.82	\$200.00	\$288.82
	10250-704 Chatsworth 4ft ladder rack	2	\$355.20	\$200.00	\$555.20
	731304642183 APC NetShelter SX Server Rack Gen 2, 42U AR3150B2	3	\$9,990.00	\$900.00	\$10,890.00
<u></u>	03288608084 All Purpose Cable, Aluminum Armor, (2) 10 AWG Conductor	300	\$3,240.00	\$600.00	\$3,840.00
	4 in. Square Surface Cover, 78618910518 Steel, Raised 1/2 in., 2-9/64 in. 30A to 50A Receptacle	5	\$15.00	\$83.33	\$98.33
	4" SQUARE BOX - 2-1/8" DEEP B0C3WLDQ7Q - WELDED Square Electrical Box	8	\$33.60	\$93.33	\$126.93



H	78358583596	Select Spec™ Single Locking Receptacle, 30A, 250V, 2P3W, Black Nylon	3	\$164.05	\$50.00	\$214.05
11	В07КFР7ТЗН	GE UltraPro Duplex Heavy- Duty Receptacle	3	\$17.96	\$50.00	\$67.96
	B005JC6P12	Hubbell-Raco 902C 1 Duplex Receptacle 4-Inch Square Exposed Work Cover, Silver	3	\$16.20	\$25.00	\$41.20
=	03288691259	58027505 - THHN Building Wire, Solid, 12 AWG, White	450	\$129.60	\$300.00	\$429.60
	03288691252	58026505 - THHN Building Wire, Solid, 12 AWG, Black	450	\$129.60	\$300.00	\$429.60
()	03288689498	THHN Building Wire, Solid, 12 AWG Green	450	\$129.60	\$300.00	\$429.60
1 × 1 × 10 × 10 × 10 × 10 × 10 × 10 × 1	202353302	QO 30 Amp Single-Pole Circuit Breaker	6	\$125.35	\$250.00	\$375.35



8	316097627	1/2 in. Electrical Metallic Tubing (EMT) Set-Screw Coupling	90	\$32.40	\$1,250.00	\$1,282.40
	100137321	1/2 in. Electrical Metallic Tube (EMT) Set-Screw Connectors	12	\$14.11	\$166.67	\$180.78
	202068039	1/2 in. x 10 ft. Electrical Metallic Tubing (EMT) Conduit	90	\$807.84	\$3,000.00	\$3,807.84
(100	03288622541	11599805 - THHN Building Wire, Solid, 10 AWG, Green	450	\$210.60	\$300.00	\$510.60
( <del>-</del>	03288691232	58020305 - SIMpull THHN® Building Wire 10 AWG Solid Copper, Black	450	\$210.60	\$300.00	\$510.60
	03288691284	58021605 - Building Wire, THHN, Copper, 10 AWG Solid, 1-Conductor, 600V, White	450	\$210.60	\$300.00	\$510.60
To be a second	EMI104-10	EATON POWER QUALITY   EMI104-10 EPDU 30AMP INPUT 200-240V I/O36X C13 6X C19 VERT. METERED	2	\$2,491.18	\$200.00	\$2,691.18



<sub>0</sub> Juniper EX4400-48P E Switch				
	thernet <sub>4</sub>	\$43,103.95	\$400.00	\$43,503.95
EX4400-EM-454x10G M-4S extension module for series of switche	i SFP+ EX4400 1 es	\$1,496.40	\$100.00	\$1,596.40
0G- Juniper 0.5m 100Gi CM QSFP28 Copper Ca	Base 4 able 4	\$1,161.55	\$400.00	\$1,561.55
878 6 AWG Green Stranded Wire	l Ground 40	\$74.40	\$33.33	\$107.73
05 Two-Hole Lug Compr Connector 6 AW	ession 2 G 2	\$5.40	\$50.00	\$55.40
Telecommunicatio 4410 Grounding Busbar, 2 H x 1/4 in. T	ons I x 12 W 1	\$187.20	\$50.00	\$237.20
THHN Building Wire, 2199 Stranded Copper Con Green	3 AWG ductor, 40	\$85.92	\$100.00	\$185.92
	M-4S extension module for series of switched series	Series of switches  OG- Juniper 0.5m 100GBase CM QSFP28 Copper Cable 4  878 6 AWG Green Stranded Ground Wire 40  Two-Hole Lug Compression Connector 6 AWG 2  Telecommunications AMG	M-4S extension module for EX4400 series of switches  1 \$1,496.40  10G- Juniper 0.5m 100GBase CM QSFP28 Copper Cable 4 \$1,161.55  878 6 AWG Green Stranded Ground Wire 40 \$74.40  105 Two-Hole Lug Compression 2 \$5.40  Telecommunications 2 \$5.40  Telecommunications 1 \$187.20  x 1/4 in. T	M-45 extension module for EX4400 series of switches  1 \$1,496.40 \$100.00  0G- Juniper 0.5m 100GBase CM QSFP28 Copper Cable 4 \$1,161.55 \$400.00  878 6 AWG Green Stranded Ground Wire 40 \$74.40 \$33.33  105 Two-Hole Lug Compression Connector 6 AWG 2 \$5.40 \$50.00  Telecommunications 410 Grounding Busbar. 2 H x 12 W x 1/4 in. T \$187.20 \$50.00



	98290313	Two Port L-Type Flush Mount Faceplate, Ivory	198	\$491.83	\$1,650.00	\$2,141.83
<b>—</b>	96096815	Category 6 Plenum 4-Pair Cable, Blue	29700	\$19,602.00	\$19,800.00	\$39,402.00
	88410415710	Systimax® MGS400 Series GigaSPEED® XL Information Outlet, Blue	396	\$5,920.99	\$5,280.00	\$11,200.99
(E)	25065409	COMMSCOPE SYSTIMAX Cat 6 GS8E GigaSPEED® XL Modular Patch Cord, 7 ft., Blue	198	\$3,088.80	\$1,650.00	\$4,738.80
(E)	72146049907	CommScope Uniprise Uniprise® Category 6 Patch Cords 5 FT Blue	198	\$3,088.80	\$1,650.00	\$4,738.80
	80038800082	CF105 Cable Tray, Electoplated, 4 in. X 12 in/, 10 ft.	60	\$19,350.72	\$6,000.00	\$25,350.72
	80038801877	Cablofil (Legrand) Cable Tray Fitting, Splice Washer Kit, Bolt, Nut, Carbon Steel, Steel, 1/4 to 20 in Thread	60	\$275.04	\$1,000.00	\$1,275.04
$\vdash$						

80038801763 Cable Dropout Cable Drop-Out 6	0 \$5,029.92	\$1,000.00	\$6,029.92
80038800957 FAS Profile Bracket Basket Tray, 24 in. L	0 \$2,592.00	\$500.00	\$3,092.00
CommScope Systimax GigaSPEED XL 1100GS3 Evolve Category 6 U/UTP Patch Panel, 48-Port	\$8,650.80	\$900.00	\$9,550.80
Panduit - Panduit PatchLink 2U 07498337649 horizontal cable manager 1 (dual-sided) (black)	1 \$1,322.11	\$183.33	\$1,505.44
Corning 4U Closet Connector CCH-04U Housing accepts up to 12 CCH 2 panels	2 \$981.60	\$2,000.00	\$2,981.60
Total:	\$138,037.85	\$56,731.65	\$194,769.50
Shipping & Handling Charges:			\$0.00
Sales Tax: Equipment	0 %		\$0.00
Grand Total:			\$194,769.50

DEF	PT OF DEFENSE	Date	
Μ	Aurat Yildirim	Date	



#### Payment Terms

- O Type I 100 % after completion
- Type II 50 % Down (Initial Payment) 50 % Completion (Final Payment)
- Type III 30 % Down Payment, 20 % Payment after completion of 30 %, 20 % Payment after completion of 50 %, 20 % Payment after completion of 70 %, 10 % Payment at final completion.
- O Type IV Custom Payment

#### **Payment Terms**

Client agrees to pay for "Services" as outlined in this proposal in the Grand Total Amount of **\$194,769.50** to **US** 

Payment to be made as follows:

Type I - 100 % after completion.

Payment Stage	Billing Percentage (%)	Amount (in USD)
Stage I	100	194769.50

Please remit the payments to **US 11871 E 33rd Ave Unit B,Aurora CO 80010**.

If during the scope of the project client request changes or additions in system design, or a deviation from the normal scope as listed, **US** will either provide a time-and-material estimate, or a not-to-exceed figure for work to be performed.

A service charge of 1.5% per month will be added to accounts past due.



#### Warranty

US guarantees that it has carried out the installation work necessary for the Project to the satisfaction of the Customer. In the event of any issues or faults arising from the installation services or any customization or modification of purchased equipment that US was responsible for during the Project, US commits to rectify these problems at no additional cost to the Customer. This warranty will remain in effect for a period of 6 months from the Project's completion date.

It's important to note that US's warranty specifically covers only the customization and modification aspects of the equipment used in the Project. Any issues related to the overall performance of the equipment itself fall outside the scope of this warranty. In such cases, the Customer should rely solely on the warranties provided by the equipment manufacturers for resolution of malfunctions or defects.

Should a malfunction or defect in the Project be attributed to the equipment, US, within its 6 months warranty period, will provide reasonable assistance to the Customer in facilitating any warranty claims with the respective equipment manufacturers.

# ORGANIZATIONAL CHART



systec101 admin
Project Owner

E-mail: my@systec101.com

Phone: 303-537-7575



#### References:

#### 1. Buckley Space Force Base Fiber Cabling

**Project Name: SST Fiber Cable Material and Installation** 

#### **Contact Information:**

CHRISTOPHER G. SMITH, CTR, Sonalysts, Inc.
SBIRS Training Support Specialist / Project Leader
Buckley SFB, CO 80011

Comm: 720-847-0532 / DSN: 847-0532 Aurora Office: 303-879-2031 ext. 5003

Mobile: 719-660-4118

NIPR: <a href="mailto:christopher.smith.366.ctr@spaceforce.mil">christopher.smith.366.ctr@spaceforce.mil</a>

**Industry of Organization: DOD** 

#### **Project Accomplishments:**

The project involved the installation of fiber optic cables outside and inside plant fiber optics.

- The initial phase consisted of a thorough survey to map out existing cabling pathways and identify optimal routes for new fiber optic cables.
- Subsequently, the team pulled and spliced fiber optic cables, establishing connections between buildings as well as between network rooms within the same building.
- The meticulous work extended to splicing individual fiber optic strands, followed by a labeling and certification process to ensure all runs met the required standards.

**Completion Date: 2024** 

**Original Contract Amount:** \$34,104.34

Completed Cost Amount: \$34,104.34

E-mail: <u>my@systec101.com</u> Phone: 303-537-7575



#### 2. Adams County School District 14

**Project Name:** E-Rate, Wireless Access Point Cabling, and 10GB Fiber Optic Interconnect

#### **Contact Information:**

David Powell
 Network Administrator
 Adams County School District
 145291 East 60th Ave.
 Commerce City, CO 80022
 Cell: 303.853.3227
 dpowell@adams14.org
 www.adams14.org

**Industry of Organization:** County School District

#### **Project Accomplishments:**

- Successfully installed over 1000 Cat 6a cable runs and fiber uplinks, ensuring unwavering connectivity throughout the school campuses.
- Gained valuable knowledge and experience in navigating the unique complexities of a school environment, which will be instrumental in successfully executing projects.

**Completion Date: 2023** 

Original Contract Amount: \$367,994.00

Completed Cost Amount: \$367,994.00

E-mail: <u>my@systec101.com</u> Phone: 303-537-7575



#### 3. Rockland County Department of Social Services

**Project Name:** RFP-RC-2024-006 - Access Point Installation for the Department of Social Services Building L

#### **Contact Information:**

Mark Navarro
 Network Administrator - Rockland County DSS
 50 Sanatorium Road - Building L
 Pomona, New York, 10970
 Cell: 845-364-3188

email: mark.navarro@dfa.state.ny.us

Industry of Organization: County government office

#### **Project Accomplishments:**

 Completed the installation of network cabling for the newly implemented Wi-Fi system in the Rockland County Department of Social Services' "Access Point Installation for the Department of Social Services Building L" project (RFP-RC-2024-006).

**Completion Date: 2024** 

**Original Contract Amount: \$21,340.83** 

Completed Cost Amount: \$21,340.83

E-mail: my@systec101.com

Phone: 303-537-7575



#### 4. Trinidad State College Student Housing Cabling Upgrade Project

**Project Name:** TSC Cat6 Cabling (RCC)

#### **Contact Information:**

Terry Hindsman
 Purchasing Manager
 Cell: 720-858-2772

e-mail: terry.hindsman@cccs.edu

Industry of Organization: State College Student Housing

#### **Project Accomplishments:**

 Successfully installed over 300 Cat6 cables in student housing facilities spread across four buildings, enhancing the college's infrastructure to provide reliable and high-speed internet connectivity for students residing in these buildings.

**Completion Date: 2024** 

Original Contract Amount: \$135,716.19

Completed Cost Amount: \$135,716.19



**UEI:** HFEHVJHCX743 | **CAGE CODE:** 9JK62 **NAICS:** 334111, 334112, 334210, 517111, 517112, 517121, 517122, 517121 517122 517810 518210 541512 541513 541519





#### • SYSTEC101.COM

At Systec101, our mission is to deliver comprehensive information and communication solutions tailored to the evolving needs of businesses and educational institutions. Since our founding in 2014, we have built a reputation for excellence in copper cabling, fiber optic cabling, access control, and business phone systems. With a strong focus on structured cabling design, installation, and maintenance, we aim to ensure reliability by providing an efficient and scalable infrastructure for school districts, retail environments, and office spaces . Our commitment to quality, innovation, and customer satisfaction drives everything we do.

# **DIFFERENTIATORS**

- BICSI Certified
- RCDD Certified
- MTA Certified
- Proprietary Web Tool!
- 20+ Years of Experience

### **PAST PERFORMANCE**

- Adams County School District
- Kroger Aurora Facility
- Denver Apartment Complex
- Rockland County Department of General Services
- Colorado Community College System (CCCS)
- TJ Maxx
- Stryker

# **SERVICES OFFERED**

Design, Installation, troubleshooting, and maintenance of:

- FIBER OPTIC CABLING
- STRUCTURED CABLING
- BUSINESS PHONE SYSTEMS
- WIRELESS INFRASTRUCTURE
- DISTRIBUTED ANTENNA SYSTEMS

THE PROFESSIONAL DESIGNATION OF THE PROFESSIONAL DESIGNATION OF

# REGISTERED COMMUNICATIONS DISTRIBUTION DESIGNER®

IS AWARDED TO

## Murat Yildirim

by BICSI in recognition of having successfully completed BICSI's registration and examination requirements.

Designation Number: 330562

Registration Start Date: 06-06-2023

Registration End Date: 12-31-2026

Since 06-06-2023

David M. Richards, RCDD, NTS, OSP, TECH, CT **BICSI Board President** 

John H. Daniels, CNM, FACHE, FHIMSS **BICSI Chief Executive Officer** 

# THE PROFESSIONAL DESIGNATION OF RICCI TECHNICIAN

# **BICSI TECHNICIAN**

IS AWARDED TO

## Murat Yildirim

by BICSI in recognition of having successfully completed BICSI's registration and examination requirements.

330562 Designation Number:

Registration Start Date: 05-01-2025

Registration End Date: 04-30-2028



Since 04-02-2019

David M. Richards, RCDD, NTS, OSP, TECH, CT **BICSI Board President** 

John H. Daniels, CNM, FACHE, FHIMSS **BICSI Chief Executive Officer**